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QUESTION 1

Identify two scenarios in which the user can select the "Release Pick Info" option in the Wave Inquiry Ul to generate the
wave information for MHE systems. (Choose two.)

A. after wave picking has started for all allocations (alloc_qty>packed_qty, but packed_qty>0)

B. if all the lines are picked (if allocations packed gty=alloc qty) for all the allocations

C. after wave picking has started, but some allocations have not been picked yet (allocations having packed_qty=0)
D. packed_qty not evaluated when sending Wave Pick Info

E. if picking has not started for the wave

Correct Answer: AC

QUESTION 2

You are configuring the WMS Cloud to have multiple facilities and, as an added measure of control, you
want to easily identity the facility by looking at the barcode printed on the outbound carton.

Identify two valid configurations that are available in the Sequence Counter Ul that you can use for the
OBLPN. (Choose two.)

A. You can set up the count increment in Facility 1 to increase by 1, the count increment in Facility 2 to increment by 2,
and so on.

B. You can set up the sequence counter OBLPN to "Append Facility Code to Prefix".

C. You can specify different counts for the different facilitates within the Sequence Counter.

D. You can configure the sequence length for this facility to be different from the other facilities.
E. You can specify the "Color Code" in the Sequence Counter.

Correct Answer: BC

QUESTION 3

Which two options are true if inventory is unallocated and unavailable? (Choose two.)
A. Inventory located in a drop zone

B. Inventory located in active location

C. Unlocked inventory located in reserve location
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D. Inventory in locations with lock codes

Correct Answer: CD

QUESTION 4

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.)
A. Two IB LPNs of the same item have different lots and the same expiry dates.

B. Two IB LPNs of the same item have the same lot and the same expiry date.

C. The IB LPNs have an item with the same lot and different expiry dates.

D. An item is lot-tracked but not expiry-date-tracked.

E. An item is expiry-date-tracked but not lot-tracked.

F. Two IB LPNs of the same item have different lots and different expiry dates.

Correct Answer. BCDEF

QUESTION 5

You have hired a new employee to do picking in the warehouse. The employee complains that he/she cannot work
because the RF Picking transactions is not displayed as one of the RF options. Which two scenarios will cause the
transaction to be missing as an RF option in the user\\'s menu? (Choose two.)

A. The RF Picking transaction is not associated with her/his group\\'s assigned RF Menu.

B. The employee\\'s Group has a blank RF Menu.

C. The employee is assigned to the "Supervisor" group.

D. The employee\\'s email is not set up in his/her user profile.

E. The employee has forgotten his/her password.

Correct Answer: AB
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